tvilum

77824 www.tvilum.com Rev. H 20-01-2025



— NOTICE DE MONTAGE —

- Alire soigneusement
- A conserver pour consultation ultérieur

- Garder la notice de montage en cas de demande de SAV

: N
17824 BAHUT 3P + 3T
- _/
4 N
s 5
kR e
- = N J
4 N
Entretien: Nettoyer a l'aide @
d’'un chiffon doux et légére-
ment humide.
N J

L
tV I ] u m Egon Kristiansens Allé 2,
8882 Faarvang, Denmark



3/44 77824-50



S

~

A
o

e
<

&3
&
0110401 X24 0110901 X1 0111017 X12 0120203 x36 0120228 X12
UL e
)l
0.59x0.55x0.39" 30.87x0.02" 30.2/30.39x0.47" @0.2x1.18" @0.25x1.57"
15x14x10 mm ©@22x0,5 mm @5/310/12 mm @5x30 mm 26,3x40 mm
0122005 x5 | 0125233 x12 | 0125604 x16 | 0125610 x8 | 0126020 x12
N
I D
< M)
7 o™ | &
30.55/0.35%x0.61" J0.14x0.59" @0.2x1.5" 20.28x1.97" 30.23x0.35"
314/@9%x15,5 mm @3,5x15 mm @5x38 mm @7x50 mm @5,8x9 mm
0126033 X6 0126071 x12 0126211 X6 0126214 X6 0126234 X6
@0.25x1.06" 30.27x0.31" M4x0.28" M4x0.35" M4x0.98"
@6,3x27 mm @6,9x8 mm M4x7 mm M4x9 mm M4x25 mm
0131412 X2 0131513 x24 0131687 X28 0133203 x4 0141407 X6
e
20.28x3.35" 30.30x1.73/1.34" 20.59x0.37" 1x0.37x0.51" 0.67x12.13/13.78"
@7x85 mm @7,5x44/34 mm @15x9,5 mm 25,4x9,5x13 mm 17x308/350 mm
0150491 X6 | 0152292 X6 | 0162403 x5 | 0181009 X6 | 0194009 X2
2.01x1.57x0.35" @1.02-3.61x1.97x1" @1.1x0.83" 1.97x3.54x0.47"
51x40x9 mm @26-91,7x50x25,2 mm M6x20 mm @28x21 mm 50x90x12 mm

4/44

77824



0196203

-

20.28x0.06"
@7x1,5 mm

0197642

0.16x1.93x1.46"
4x49x37 mm

x1

5/44

77824



6/44 77824



BOX 1/3

/00749 x3
° Q 7 ol
S e .
345x88x12,2mm
FQ GK x2
/00750 x3
.o ° ° o o e o o o e e e s e 8 o @ o !
791x425x18mm 755x423x18mm 345x88x12,2mm
/76200 X2
lllll ° o o/ Qo o o I
°o Z |
455x48x32mm / 03403 x3
7
HP
76199 x2 398x88x12,2mm
O e o 00 00
° | e o O/ o o o
o L N
791x425x18mm 455x48x32mm
BOX 2/3
(o] o KS [e]
1329x70,5x18mm
08868 x3 o
o : PJ 0
1329x73,5x18mm
864x440x2,5mm
[¢] ° o .O.
IN WD x3
o ° o]
1329x404x18mm 603x426x18mm
. . EO x3
427x121x18mm
JA
1425x455x18mm

7144

77824



BOX 3/3

1A
1437x461x18mm
LA
1437x461x18mm
/76202 X2
f— > ? 0
1425x48x32mm
T x3 06091 x3
431x382x18mm 409x342x2,5mm
| o KT x3 ° |
431x70x18mm

8/44

77824



0125233 x2 [0126020 x2 [0141407 x1 . @

@0.14x0.59" @0.23x0.35" 0.67x12.13/13.78"
@3,5x15 mm 25,8x9 mm 17x308/350 mm

g

0126020 == 0126020

@

9/44 77824



0120203 x4

2 |«

©0.2x1.18"
@5x30 mm

0131513 x5

@0.30x1.73/1.34"
@7,5x44/34 mm

10/44 77824



0126071

@0.27x0.31"
@6,9x8 mm

x4

0126211

M4x0.28"
M4x7 mm

X2 | 0150491

2.01x1.57x0.35"
51x40x9 mm

0126071

@0.27x0.31"
26,9x8 mm

x4

0126211

M4x0.28"
M4x7 mm

x2 | 0150491

2.01x1.57x0.35"
51x40x9 mm

HP

11/ 44

77824



0125233 x2 [0126020 x2 [0141407 x1

5 ¥ %

6 ‘\“.‘W‘?//

@0.14x0.59" @0.23x0.35" 0.67x12.13/13.78"
@3,5x15 mm 25,8x9 mm 17x308/350 mm

1]

N—A
0126020 =

12/ 44 77824



0120203 x4

= |

©0.2x1.18"
@5x30 mm

HP

0131513 x5

@0.30x1.73/1.34"
@7,5x44/34 mm

K/O

HP

O\ WELG

13/44

&\ o —

77824



0125233 x4 [0126020 x4 [ 0141407 X2

@0.14x0.59" @0.23x0.35" 0.67x12.13/13.78"
@3,5x15 mm 25,8x9 mm 17x308/350 mm

= =
0125233~ 7=+4-0126020 =) 0125233 0126020
= = = =/
T & & =/
* | i * |

SO Tor——T——n0—

‘!fffisr- o C:ZD o ‘::D:’; :;:ZD C:ZD

14/ 44

77824



0125233 x4 [0126020 x4 [ 0141407 X2

@0.14x0.59" @0.23x0.35" 0.67x12.13/13.78"
@3,5x15 mm 25,8x9 mm 17x308/350 mm

1]

0126020

15744 77824



0120203 x8

P

©0.2x1.18"
@5x30 mm d

0126071 x4 0126211 X2 [ 0150491 x2 @
@0.27x0.31" M4x0.28" 2.01x1.57x0.35"
26,9x8 mm M4x7 mm 51x40x9 mm

16 /44 77824



0122005 x5

@0.55/0.35x0.61"
@14/89x15,5 mm

0162403 x5

M6x0.79"

M6x20 mm

17 /44 77824



15

0133203

=

1x0.37x0.51"
25,4x9,5x13 mm

x4

76200

18/44

77824



0125604

20.2x1.5"
@5x38 mm

0125604

0125610

19/44

77824






18

0120203 x4

P

©0.2x1.18"
@5x30 mm

IN

19

0120203 x10

P

@0.2x1.18"
@5x30 mm

21/44

0

77824



20

0131412 X2

—

20.28x3.35"
J7x85 mm

0131687

22 /44

77824



0125610 x8 0197642 x1

..

@0.28x1.97" 0.16x1.93x1.46"
@7x50 mm 4x49x37 mm

23 /44 77824



0131687

@0.59x0.37"

@15x9,5 mm

77824

24 /44









77824

27144



15x14x10 mm

@;@ :
2 / |

28/ 44 rrez



English (en)

IMPORTANT. The screw supplied together with the anti-topple
hracket is to be used only for fixing the anti-topple bracket to the
furniture. In addition to this, you will need to choose a screw or
fitting which is suitable for securing the bracket to the kind of
walls you have. If you are unsure about what type of screw to
contact your local hardware store.

WARNING: In order to prevent overturning this furniture must
be used with the wall attachment device provided. Furniture
overturning poses a safety hazard.

Dansk (da)

VIGTIGT! Skruen som fglger med veeltesikringen er kun til at
faestne veeltesikringen i mehblet. Du skal derfor supplere med en
skrue eller et beslag som passer til det materiale din vag er lavet
af. Hvis du er usikker sd kontakt din lokale fagmand.

ADVARSEL: For at undga at mgblet tipper skal det anvendes med
det medleverede tip-sikrings anordning. Mgbler som tipper
udger en sikkerhedsrisiko.

_ (ar) ) Aad

e A4 mPI@MMMQWw o AR e 38 el g2 L) e
ol dpulia 8 5 5l 2 sl ) gliata cells ) Bl UYL 43
oo i) i ol g 5 Ga aSlie it €13 Al il gall § g plSaly 24K
JEFpRTONE SR S FORE WO, T - PRI RYS A

1 dal

(o oy Lalald) 5350 50 519 g Llartion) iy bl YY) Aadad i) (ol
sl e 5hd (S8 U QAL | jlaad)

Bosanski (bs)

Vaino: Vijak priloZen uz nosac sa zastitom od prevrtanja je
namijenjen samo za priévriéivanje nosaca na namjestaj.Uz to bit
¢e potrebno da odaberete vijak ili spojni element pogodan za
pri¢vricivanje nosaca na odgovarajucu vrstu zida. Ako niste sigurni
koju vrstu vijka odabrati pitajte u lokalnoj prodavaonici
gradevinskog materijala.

UPOZORENIJE: Da bi se sprijecilo prevrtanje ovaj namjestaj se
mora koristiti sa obezhjedenom spravom za pricvricivanje na zid.
Prevrtanje namjestaja predstavlja sigurnosnu opasnost.

6varapckm (bg)

BAHHO. [OCTaBEHMAT BMHT, 3a84HO C penAllaTa ckoba, ce
M3M0/A1383a eAMHCTBEHO 33 3aKpenBaHe Ha Kpensawarta ckoba Kbm
ebenute. OceeH TOBa Bue wie Tpabea na n3beperte BUHT UK
GUTKMHT, KOMTO @ MOAXOAALY 38 3aKpensaHe Ha ckobaTa Kbm BUAa
Ha BaluWTe CTeHW. AKO He CTE CMTYPHMW KakbB BWA BUHT 43
M3NoAN3BaTe, CBLPHKETE Ce € MECTHMA MarasvH 3a HCTPYMEHTH 3a
Aoma.

NPEAYNPEXAEHWE: 3a aa ce usberve npeobpbiluaHe, Tasn
meben TpabBa ga ce M3N0OA3BA C NPeAOCTaBEHUA MEXAaHHW3bM 32
3aKpenBaHe Kbm cTeHaTa. MpeobpbliaHeTo Ha mebeny
npeAcTaBAnABsa 3annaxa 3a 6e3onacHocTTa.

Catala (Cat)

iii IMPORTANT !!! El cargol que ve inclds amb el suport
antibolcada esta destinat al fixar-lo al moble. Heu de fixar
I'antibolcada a la paret amb un cargol similar d’acord al material
de la paret, consulti el seu ferreter,

ADVERTENCIA: Per tal d'evitar que bolqui, cal utilitzar aquest
moble amb I'estri subministrat per fixar-lo a la paret. Si el moble
bolca pot suposar un perill per a la seguretat.

29/44

H13T (zh)

EERT

FEfA{EI X 2R A R ERIEST RO ARkEE R BRI EE - It
b EEHRBRIEEEER REE - SENBE SR RE
B3R - MREABEEZEROIMEL - FZEHM AEHE
5. B ATREZEHE - HAERRENNERER
EXH - RABRSTFRERBHK,

Hrvatski (hr)

VAZNO Isporueni vijak i sigurnosni nasaé treba upotrijebiti samo
za priCvricivanje sigurnosnog nosaca na namjestaj. Uz to, morat
cete odabrati vijak ili spojni element prikladan za pricvrscivanje
nosata na odgovarajucu vrstu zida. Ako niste sigurni koju vrstu
vijka trebate upotrijebiti, pitajte u lokalnoj trgovini Zeljezarijom.
UPOZORENIJE: Ovaj se namjestaj mora upotrebljavati s
isporucenim mehanizmom za pricvri¢enje na zid kako bi se
sprijecilo njegovo prevrtanje. Prevrtanje namjestaja opasno je za
sigurnost.

€ettina (cs)

DULEZITIE. Sroub pfibaleny k bezpeénostnimu kovéni je uréen
pouze k pfichyceni kovani k nabytku. Je nutné, zvolit 3roub k
pfichyceni kovani ke sténg, ktery je vhodny vzhledem k typu vasi
shény. V pfipad@, kdy si nejste jisti, jaky Sroub pouZit, Zadejte o
radu v nejblizsim obchodé Zelezarstvi nebo v obchodé domacich
potreb.

VAROVANI: Aby nedoslo k pfipadnému pFevraceni ndbytku, je
nutné poutiit pfiloZzenou uchytku na zed. Prevraceni ndbytku

sv

predstavuje vdiné hezpeénostni riziko.

Nederlands (nl)

BELANGRIJK. De schroeven die bij de wandbevestiging zitten, zijn
uitsluitend bedoeld om de wandbevestiging aan het meubel te
bevestigen. Completeer de wandbevestiging met een schroef of
bevestigingsbeslag dat geschikt is voor het materiaal van de wand.
Neem bij twijfel contact op met de ijzerhandel.
WAARSCHUWING: Om kantelen van dit meubel te voorkomen,
moet het samen met de meegeleverde wandbevestiging worden
gebruikt. Het kantelen van meubilair vormt een gevaar voor de
veiligheid.

Eesti keeles (et)

TAHTIS. Umberkukkumist takistava kronsteiniga koos tarnitud
kruvi on mbeldud kasutamiseks ainult imberkukkumist takistava
kronsteini kinnitamiseks maabli kiilge. Lisaks sellele peate valima
kruvi vBi kinnituse, mis sobib kronsteini kinnitamiseks sellist tiiGpi
seinale, nagu teil on. Kui te ei ole kindel, millist kruvi kasutada,
pddrduge abi saamiseks kohaliku ddriistakaupluse poole.
HOIATUS: Umberminemise viltimiseks tuleb kasutada seda
modblit koos komplektis oleva seinakinnitusega. Mddbli
tumberminemine vdib olla ohtlik.

Suomi (fi)

Huomioi, ettd turvakiinnikkeen mukana tuleva ruuvi on tarkoitettu
ainoastaan kiinnittaakseen turvakiinnikkeen huonekaluun.
Taydenna sen vuoksi ruuvilla tai muulla kiinnitykselld joka sopii
seindsi materiaaliin. Ota yhteytta tavarataloon, jos olet epadvarma.
VAROITUS: Taméan huonekalun kaatuminen on estettiva
kdayttamalla sen mukana toimitettua seinakiinniketta.
Huonekalun kaatuminen aiheuttaa turvallisuusriskin.

Frangais (fr)

IMPORTANT : la vis fournie avec le dispositif anti-bascule est
destinée a fixer le dispositif dans le meuble. Pour la fixation au
mur, compléter par une vis adaptée au support mural. En cas de
doute, contacter un magasin de bricolage.



AVERTISSEMENT : afin d'empécher tout basculement, ce
mobilier doit étre utilisé avec le dispositif de fixation au mur
fourni. Le basculement du mobilier constitue un risque pour la
sécurité.

Deutsch (de)

WICHTIG. Die dem Kippschutz beigefiigten Schrauben sind
ausschlielich fur die Befestigung des Kippschutzes am
Mdobelstlck vorgesehen. Fir die Befestigung des Kippschutzes an
der Wand bendtigen Sie zusatzlich Schrauben oder Beschlage,

die zur Beschaffenheit der Wand passen. Falls Sie nicht sicher sind,
welche Art von Schrauben geeignet sind, wenden Sie sich bitte an
den Fachhandel.

WARNHINWEIS: Um das Umkippen dieses Mobelstiicks zu
verhindern, muss die mitgelieferte Wandbefestigung verwendet
werden. Umkippende Mdbelstiicke stellen ein Sicherheitsrisiko
dar.

EAAnvikc (el)

FHMANTIKO. H Bida nou mapéxetat pall PE TO QVTLOVOTPETTLKD
OTrpLypa IPEMEL Vol XpnoLponolnOei povo yia Tn oTepéwaorn Tou
QVTIOVATPEMTIKOU OTNPLlyLOTOC 6TO EMUMAD. EKTOC amd autTh TN
Bida, Ba yperaoteite pio Plda rf efdptnua mov elval karaAAnio
YL0L TN OTEPEWOT TOU OTNPLYLOTOG 0TO EIGOG TOU TOIYOU TIOU EXETE.
Edv bev elote oiyoupol yia tov tUmo tng Bldoacg mou nmpemneL va
XPrOLLOTIOLGETE, EMLKOWWVAOTE LE va oLBnpomwAELo.
MPOEIAONOIHEH: Na thv anoduyh avatpomntic, To énmio
TPEMEL Va YPNGLLOTIOLELTOL LE TN GUOKEVH TPOCAPTNONG OTOV
toi)o ou Tapéxetal. H avatponr) eninAwv ouviotad kivbuvo
aodaheioc,.

Magyar (hu)

FONTOS. A d6lést megakadalyozd tartdhoz kapott csavar kizérdlag
a tarté bltorhoz torténé rogzitéséhez hasznalhatd. Ezen felll ki
kell valasztania, hogy milyen csavart vagy szerelvényt hasznaljon
ahhoz a falhoz, ahova a tartokart régziteni szeretné. Amennyiben
nem biztos benne, hogy milyen csavart kell hasznalnia, 1épjen
kapcsolatba a helyi vasadrubolttal.

FIGYELMEZTETES: A butort a felborulds megelézése érdekében a
mellékelt fali régzitGvel kell hasznélni. A bator felboruldsa
biztonsagi veszélyt jelent.

Italiano (it)

IMPORTANTE. Le viti che vengono fornite insieme al dispositivo
antiribaltamento vanno utilizzate soltanto per fissare questo
dispostitivo al mobile. Scegli quindi le viti o il dispostitivo di
fissaggio che pill si adattano alle pareti di casa tua. In caso di
dubbi contatta il tuo ferramenta.

AVVERTENZE Applicare il dispositivo di fissaggio a parete fornito
in dotazione per evitare il ribaltamento del mobile. Il
ribaltamento del mobile costituisce un rischio per la sicurezza.

BAEEE (ja)

BE CoDOFHLERAT 4y Mz REBEEA TV R UIE,
CoO2ZHLEBTSYy bEREICRUMATLHZOOER
FTTY, Efz, TSy bERYRIFAICIE, SERO
BOBHEIZE LT, @UEACFELIRAEEE ESNE
BHYET, F BFRExT0EEA 4 REEI(E.
HECHDEYEFTTERALEHEB LT L, BEE:ZORR
BEFELEVWESIZCTIEOHIZ, TFHEORICEET HE
BEERALTLESL, REOERIE, XERRTT,

Latviski (Iv)

SVARIGI. Skrive, kas tiek iek|auta pretapgasanas kroniteina
komplektacija, ir izmantojama tikai, lai piestiprinatu
pretapgasanas kronSteinu pie mébeles. Papildus arT jums ir
jaizvelas skruve vai stiprinajumes, kas ir piemérots kroniteina
fikséSanai pie jlsu telpas esosa sienu veida. Ja neesat parliecinati

30/44

par to, kada tipa skruves lietot, sazinieties ar vietéjo hluvmaterialu
veikalu.

BRIDINAJUMS! Lai mébeles neapgiztos, tas jaizmanto kopa ar
komplektacija ieklautajiem sienas stiprinajumiem. Mébe|u
apgasanas rada draudus dro3ibai.

Lietuviy (It)

SVARBU. Kartu su laikikliu nuo apsivertimo tiekiamas sraigtas turi
bati naudojamas tik laikikliui nuo apsivertimo tvirtinti prie baldy.
Taip pat jums reikés pasirinkti sraigtg arba tvirtinimo elementa,
tinkant] laikikliui tvirtinti prie jusy kambario sienos. Jeigu neZinote,
kokio tipo sraigtg pasirinkti, kreipkités j vietos statybiniy prekiy
parduotuve.

ISPEJIMAS: Kad baldas neapuvirsty, jis turi biiti naudojamas su
pridedamu tvirtinimo prie sienos prietaisu. Galintis apvirsti
baldas kelia pavojy saugal.

Norsk (no)

VIKTIG. Legg merke til at skruen som fglger med tippebeskyttelsen
kun skal brukes for a feste tippebeskyttelsen i mgbelet.
kKompletter derfor med en skrue eller et feslebeslag tilpasset
materialet i veggen din. Er du usikker, ta kontakt med din lokale
fagforhandler.

ADVARSEL: Det medf@lgende veggfestet ma brukes for & hindre
at mgbelet velter. Hvis mgbelet velter, kan det medfgre
sikkerhetsrisiko.

Polski (pl)

UWAGA! W komplecie z mocowaniami zapobiegajacymi
wywréceniu mebla sg sruby, ktére stuzg tylko do przytwierdzenia
ich do mebla. Rodzaj $rub przytwierdzajgcych je do $ciany zalezy
od rodzaju materiatu z jakiego zostata wykonana (gips, cegta,
drewno itd.). Bed3 wiec potrzebne dodatkowo odpowiednie
$ruby. Jesdli masz watpliwosci co do rodzaju $rub zasiegnij opinii
fachowca.

OSTRZEZENIE: Aby zapobiec przewrdceniu sig, meble nalezy
unieruchomic za pomocg dotaczonego mocowania sciennego.
Przewrocenie sie mebli stwarza zagroienie dla bezpieczeristwa.

Portugués (pt)

MUITO IMPORTANTE. O parafuso fornecido junto com o
dispositivo antiqueda deve ser usado unicamente para para fixar o
dispositivo anti-queda ao movel. Deve também escolher um
parafuso ou fixacdo que seja adequada para segurar o dispositivo
ao tipo de paredes que tiver. Se n3o tiver a ceteza de que tipo de
parafuso deve usar, deve dirigir-se a uma loja especializada.
ADVERTENCIA: De modo a evitar que esta peca de mobilidrio se
vire ao contrario, esta deve ser usada com o dispositivo de
fixagdo a parede. O derrube da mobilia constitui um perigo para
a seguranga.

Romana (ro)

IMPORTANT. Surubul furnizat impreuna cu consola anti-rasturnare
va fi utilizat doar pentru fixarea consolei anti-rasturnare pe
mobild. Pe [angd aceasta, va trebui sa alegeti un surub sau
montura adecvate pentru fixarea consolei pe tipul de perete din
incdperea respectivd. Daca aveti nelamuriri privind tipul de surub
de utilizat contactati

magazinul local de scule si unelte. AVERTISMENT: pentru a
preveni risturnarea, aceastd piesd de mobilier va fi utilizata cu
dispozitivul furnizat pentru prinderea de perete. Rasturnarea
mobilei reprezinta un pericol pentru siguranta.

Pycckui (ru)

BAXHO. BoAT, NoCcTaBNAEMbIN BMECTE C AepKaTenem npoTus
OI'I[.')OKIﬂ,E[bIBaHl‘lﬂJ AOMNKEH MCNONB30BATLCA TONBKO A4
KPENAEHWA faHHOro gepyaTtens Kk mebenu. B gononHeHuWe K
sTomy HeoBxoauMo NoaoBpaTe WYPYN UAK KpenaeHue ana
dWKCaUMK AepaTens Ha CTEHEe B 3aBUCUMOCTM OT ee TWna. Eciun



Bbl HE YBEPEHbI, KAKOK Wypyn Kenonb3osaTts, obpatuTech 3a
KOHCY/IbTaLMEN B MECTHBIM MarasnH CTPOMTE/IbHbIX TOBAPOB.
MNPEAYNPEXAEHWE. Bo n3bexauue onpokugpisauua meGenu
caefyeT UCNONb30BaTh NPEeAOCTaBNEHHOe HACTEHHOe
KpenaeHue. OnpokugbiBaHue mebenw BneyYeT onacHoCTb
TPaBMHMPOBaHUA.

Srpski (sr)

Vaino: Ovaj zavrtanj, koji se isporucuje zajedno sa sigurnosnim
nosacem, treba koristiti samo za pricvrcivanje sigurnosnog
nosaca na namestaj. Pored toga, treba da izaberete odgovarajuci
zavrtanj ili spojni element za priévréivanje nosaca na dgovarajuéu
vrstu zida. Ako niste sigurni koju vrstu zavrtnja da upotrebite,
obratite se lokalnom gvoidaru.

UPOZORENIE: Da bi se sprecilo prevrtanje, ovaj namestaj mora
da se koristi sa priloZenim sredstvom za pric¢vriivanje za zid.
Prevrtanje namestaja predstavlja bezbednosni rizik.

Slovencéina (sk)

DOLEZITE UPOZORNENIE. Skrutka dodavana spolu s ezpecnastnym
kovanim je uréena iba na upevnenie kovania k nadbytku. okrem
toho budete potrebovat” skrutku za prichytenie kovania k stene.
Tlto si vyberte podra druhu steny. AK si nie ste isty, aky, druh
skrutky potrebujete, kontaktujte najblizszsie Zeleziarstvo.
VAROVANIE: Aby nedoslo k pripadnému prevrateniu nabytku, je
nutné pouit priloZend prichytku na stenu. Prevratenie nibytku
predstavuje vaine bezpetnostné riziko.

Slovenscina (sl)

POMEMBNO PriloZeni vijak, skupaj z nosilcem za pritrditev proti
prevrnitvi, je namenjen izkljuéno pritrjevanju nosilca za pritrditev
proti prevrnitvi na pohistvo. Poleg tega boste potrebovali tudi
ustrezen vijak oz. element za pritrjevanje nosilca na vas tip stene.
Ce niste prepri€ani o tem, kak3en vijak je najprimernejsi, se
obrnite na eno od tehniénih trgovin v vasi bliZini.

OPOZORILO: Da bi prepretili prevrafanje, morate to pohiStvo
uporabiti s priloZzeno napravo za pritrditev na steno. Prevradanje
pohistva predstavlja nevarnost.

Espariol (es)

IIMPORTANTE! El tornillo que viene incluido con el soporte
antivuelco estd destinado a fijarlo en el mueble. Debes fijar el
antivuelco en la pared con un torn il lo o similar de un tipo acorde
con el material de esta. Consulta con tu ferreteria. ADVERTENCIA:
Con el fin de evitar que el mueble vuelque, debe utilizarse
siempre con el dispositivo de fijacion de pared facilitado. El
mobiliario que puede volcar representa un peligro para la
seguridad*.

Svenska (sv)

Observera att skruven som medfoljer tippskyddet endast ar
avsedd for att fasta tippskyddet i mobeln. Komplettera darfor med
en skruv eller ett fastbeslag som passar materialet i din vagg. Ar
du osaker kontakta din lokaia fackhandel.

VARNING; Denna mdbel maste anvdndas tillsammans med den
medféljande anordningen for viggfiste for att forhindra att
mdbeln vilter. Viltande mobler utgor en sakerhetsrisk.

Tiirkge (tr)

ONEMLI. Devrilmeyi 8nleyen destek ile birlikte verilen vida,
yalnizca devrilmeyi 6nleyen destegi mobilyaya monte etmek igin
kullanilacaktir. Buna ek olarak, destegi sahip oldugunuz duvar
tiriine monte etmeniz icin uygun bir vida veya baglanti elemani
segmeniz de gerekecek. Eger hangi tr vida kullanacaginizdan
emin degilseniz yerel hirdavatgimiza basvurun.

UYARI: Asirn dénmesini 6nlemek igin bu mobilya verilen duvar
baglanti pargasi ile birlikte kullaniimahidir. Mobilyanin agiri
ddnmesi giivenlik riski olusturur.

31/44

YKpaiHcbKa (uk)

Bamnumeo: BOAT, AKMIA NOCTAYAETLCA Pa30OM 3 TOUMAYEM Bif,
nepeknaaHHA, NOBUHEH BUKOPWCTOBYBATUCA TiIbKK A8
KpinneHHa Uuboro Tpumada 0o mebais. Kpim uporo, HeobxiaHo
nigibpat wypyn abo kpinneHHs Ans dikcauii TpMmada Ha CTiHi,
3aNEKHO Bif iT TMNY. AKLLO BM HE BNEBHEHI, AKWA Wypyn
BUKOPWCTOBYBATH, 3BEPHITLCA 33 KOHCYALTALIEK 40 MICLEBOro
marasuny byaisensHWX ToBapiB.

YBAFA! L}i mebni noTpibHO BUKOPMCTOBYBATH 3 NPUCTPOEM AR
HACTIHHOTO KPiNAEHHA, AKWIA HAOQAETLCA B KOMNAEKTI, Wob6
3ano6irti IXHbOMY NepeBepTaHHIo. Y pasi nepesepraHHA mebnis
MO¥e BUHMKaTH 3arpo3a beaneui.



32/44 77824



30mm
1(1/5)"

(o]

.----\-‘—

X XXX
LA

i
2R

<3
Vi

X XK XX >
KRS

P X
AR

=X

33/44

77824



34 /44 77824



31

0110901

x4

&G~/

@0.87x0.02"
@22x0,5 mm

0196203

O ||

20.28x0.06"
@7x1,5 mm

x3

hES
~
~J

35/44

77824



43 1

0152292

77824

36 /44



37144 77824



0131513 x6

@0.30x1.73/1.34"
@7,5x44/34 mm

=) d') @
Y EO x3 S
¢ ’ )
S
0120203 x6 ﬁ

00749 x3

38/44 77824



37

0131687

00750

39/44

00749

77824



38

00750

00749

0120228

x12

@0.25x1.57"
26,3x40 mm

40/44

03403

77824



0126234 x3[0181009 X3 @

M4x0.98" @1.1x0.83"
M4x25 mm @28x21 mm

41/44 77824



41

1] 2]
R @
I e .
© — /
— A\
3 /\
-
\

77824



77824

43 /44



50 kg o
110 1bs 3 ko

7 bs

™ 0\}0““%@ V)
MIX 2 MUEN\ > [ (TTTIT)
‘@ = - B
: = = ou ou
r\gs‘:)%ilsia;p?o‘:’;::?y \&!'p] é donner ou recycler. - - -
FSC NN V4 Association Magasin Déchéterie

™ =N
wscoy  FSC™ C021084 WE SUPPORT https://quefairedemesdechets.fr

© TVILUM A/S 2018 44144 77824





